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Similar Polygons

1. Corresponding angles
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Similarity Statement
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: ABCD ~ EFGH. Solve for x.
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Ex. A tree cast a shadow 18 feet long.
same time a person who is 6 feet tall cast a
shadow 4 feet long. How tall is th; tree?
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Ratio of Similar Polygons
Area:Area .,

A?: SPe 9

s — e

/7'(_\

The ratio of the perimeters of two similar
polygons equals the ratio of any pair of
corresponding sides

The ratio of the pe eters
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Ratio of Similar Polygons
Corresponding Sides : Corresponding Sides

Perimeter : Perimeter

Ratio of Similar Figures
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Find the perimeter of the smaller triangle.

Perimeter = 60 cm  Perimeter = x
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Kuta Software - Infinite Pre-Algebra Name,

Similar Figures
Each pair of figures is similar. Find the missing side.
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